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Faculty of Computers Year 2018-2019

& Fourth Level
Information First - term Exam

Software Engineering. Date: 10/1/2018
Software Quality Assurance 3 Hours

and Testing (SE422 )
16. helps us focus on developing and delivering near-perfect products and services.it measures
how far a given process deviates from perfection.

a. Six Test b. Six Sigma <. 1S0 9000 d.150 91263

17 a voluntary Quality Management System standard_that helps organizations ensures they
are meeting customer requirements

a.1SO 9000 b.1SO 9001 ¢. 180 9000-3 d. 180 9000-1
18 s concerned with evaluating a work product, component or system to determine whether it
meets the user needs and requircments.

a. Verification b. Validation c. Variance d. Testing

19. defines quality in use metrics that measure the results of using the system in a specific
environment.

2. 1S0 9001 b. IS0 9000 c. 180 9126-1 d. 150 9126-4
20. Describe a specific idea that is to be tested, without detailing the exact steps to be taken or data to be
used

a. Functional testing b. Test plan c. Test document d. Test cases

Q2. Answer the following questions (30 Points)
1- what a test plan should contain? (5 points)
2- What s the difference between water fall model and V-Model in software testing®
3- List five dimensions of Software Quality? (5 points)

- What is the difference between Retesting and Regression Testing? (5 points)

5- What are the benefits of certification? (5 points)

6- Whatis the purpose of Testing in the Software Development Lifecycle? (5 points)
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Kafrelsheikh University Full Mark: 60

Faculty of Computers & Information Date: 14/01/2019

Subject: Embedded Systems Pages (4)

Time Allowed: 3 Hours Instructor: Dr. Amr Abohany

L Choose the Most Correct Answer: (10 marks)
1. In Picl6f877a, ......... makes all pins in port C in input state.
a. TRISC=0xff; b. TRISC=0xee; c. TRISC=0xdd; d. TRISC=0xcc;

. expresses the machine’s ability to transfer data, store data, operate on
data and make the decision.

a. MP b. DSP c.ISA d. Oscillator
3. In

., you can modify part of its contents. Modifying or erasing contents
don’t need special tools.

a. EEPROM b. RAM c. Flash Cashes d. EPROM

55 set of services used to pass information from one task to another

without information ever being damaged and makes it possible for tasks to coordinate.
a. Task management b. Timer c. Intertask communication d. All

. memory allocation mechanism allows software to allocate chunks of

memory of 4 to 8 different buffer sizes.

a. conditional b. Static c. Loops d. Polls
6. If we use crystal oscillator by frequency 8 Mhz, the microcontroller will execute
instruction per second.

a. 2000000 b. 300000 c. 40000 d. 5000

o

In large number of small-scale embedded systems, the scheduling and priority functions
are incorporated into the

a. MP b. RTOS c. application d. Timer
is a function describing the number of memory accesses, the number of
comparisons between integers and the number of times some inner loop is executed.

a. Time Complexity b. Space Complexity ~ c. Code Complexity ~d. none of all
9. In ...

real time systems, failure to meet such a deadline is considered to be
a fatal fault and will lead to disastrous consequences.
a. hard b. soft c. small-scale d. none of all
10. ..... .is one of the RTOS kernel functions.

a. Intertask communication b. Timer c. Task-management d. All

(A dadaall A ALl B -0 . AW dadiall)
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I1.Mark the Following Sentences with True (T) or False

R I Y A NS

10.

111. Complete the Following Sentences:

il ol

10.

(10 marks)

ROM stores temporarily the results during fast processing and non-volatile results. (

In EPROM, you can erase its contents multiple times using ultraviolet (UV) light.
Most RTOS perform non-preemptive task scheduling.
In Pic16£877a, TRISC=0x67 makes pins 0,3,7 in port C in output state.

RTOS is necessary in large-scale embedded systems.

In Pic16£877a, there are 33 pins for power and oscillator.
RAM stores the variables during program running and stores 1/O buffers.

Processing time is the execution time of the machine's bit test instruction.

(
(
(
(
Time Complexity is the percentage of time that the CPU is doing useful work. (
(
(
(
(

Every microcontroller has a number of SFRs whose function is predetermined.

(10 marks)

In Pic16f877a, any pin can be output if its equivalent TRISX bit is .

In the following example "MOV CL, DL", . ...... is the destination register.

directs the ordered execution of the micro-operations so as to effect the

desired transformation of the data.

In Pic16f877a, A SFR register for each port used to control port data flow direction called

If the microcontroller executes 2000000 instruction per second, the instruction duration will

In . viveven step, the information is forwarded to the control logic and the step will

initiate the execute portion of the instruction cycle.

is a multipurpose programmable device that accepts digital data as input,

processes it according to instructions stored in its memory and provides results as output.

| Fe— . step , The address of the following executed instruction is dependent on

the state of the condition flags as modified by the recently completed instruction.

.. stores application programs from where the processor fetches the instruction

codes, storing codes for system booting, initializing, initial input data and string.

... is a specialized microprocessor with an architecture optimized for the

operational needs of digital signal processing and discrete time.

Gl dadialt B AL B Y- 4500 dadall)
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(10 marks)

IV. Write Short Notes on the Following Terms:
1. Finite State Machine.

Task Switch in RTOS.

Priority Based Preemptive Task Scheduling in RTOS.

Dynamic Memory Allocation in RTOS.

Monolithic kernel and Micro Kernel.

Objectives of Time Complexity Analysis.

Noowor e

Steps of Analyzing Complexity.
V.Implement the Following A (20 marks)
1. Write a mikro C code to perform a traffic light using PIC 16£877a, Resistors and Leds.

lications:

2. Write a mikro C code to display the word "software" on a LCD that moves from left to right
using PIC 16f877a and LCD. You can use this template to initialize LCD.

* sbit ICD RS at RB2 bit;
sbit 1D EN at RB3 bit;
sbit 1D D¢ at RB4 bit:
sbit LCD DS at-RBS bit;
sbit LCD D6 at RBG bit;
sbit LCD D7 at RBY bit;

sbit LCD RS Direction at TRISB2 bit;
sbit LCD EN Direction at TRISB3 bit;
sbit LCD D4 Direction at TRISB4 bit;
sbit LCD DS_Direction at TRISBS bit;
sbit LCD D6_Direction at TRISB6 bit;
sbit LCD D7 Direction at TRISBY bit;

() dadeall 8 ALia B Yo LAY dadeall)
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3. Write a mikro C code to perform digital clock using PIC 16{877a, 7-Seg and7447.

4. Write a Write a mikro C code to display "LCD ON" on a LCD and operate a lamp (220 v)
using PIC 16f877a, LCD, Lamp, Relay and Resistors.

(3AT1 9 Ayt dadiall)
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Undergraduate Program | o
Academic Year
2018/2019
Network Analysis and
Design (IF451)
(60 marks) =
Kafrelsheikh Unive 2 Pages o g
Date: 17/1/2019 Time: 180 minutes
Question number one: (30 Marks)
a. Choose the Most Correct Answer: (20 Marks)

1) The ability to adjust configuration and size to fit new conditions is known as:
[a Mobility, |b. ﬁ_w\fﬁ C.Network | d.Network | e. Application W. Tegacy
presence, | Audit, Scalability, | Compatibility, | applications,
2) Which of the following network design approaches, allows a quick solution which
may result in inappropriate design:
["a. Top-Down Approach, _| b. bottom-up approach, | c. none is true, | d. all true,
3) The use of virtual reality technology, especially for remote control of machinery
or for apparent participation in distant events is known as:

a. Mobility, | b. Tele- c.Network | d.Network | e. Application | L. Legacy
presence, | Audit, Scalability, | Compatibility, | applications,
4) Which of the following could be an organizational constraint in identifying design
requirements:
[a.Budget, _[b.Personnel, | c.Schedule [ d. Polic fea&c [falltrue |
5) Which of the following is an enterprise edge submodule:
a. E-commerce b. DMZ, ¢. VPN and remote c. none is true, d. all true,
networks, access.

6) Are obsolete or unstable because of compatibility issues with current operating
systems (OSes):
7 a. Mobility, * b. Tele- c.Network | d. Network e. Application | . Legacy _
i presence, | Audt, Scalability, | Compatibility, | applications,
7) Which of the following network testing ways, leads to proving the design and
moving forward with implementation:
[(a. Pilot Test, ['b. Prototype Test, | c.none is true, | d. both are true, |
8) Provide information such as: Network device list, Hardware models, Software
versions, Configuration of network devices:
7 Mobility, | b. Tele- c.Network | d. Network | e. Application
presence, | Audit, Scalability, | Compatibility,
9) Which of the following network design approaches, meets current and future
requirement which may result time consuming:
['a. Top-Down Approach, | b. bottom-up approach, | ¢. none s true, | d. all true, |

T Legacy
applications,

10) In Which of the following network testing ways, A failure leads to correcting the
design and repeating the tests to correct any deficiencies:
[ a. Pilot Test, [b. Prototype Test, | c.none is true, | d. both are true, |

Page 1of 2
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b. Using a graph illustrate the multi-homing solutions to provide

redundancy or failover for Internet service: (10 Marks)

Question number two: (30 Marks)

a. Case Study: PHARMA drug Store Network Design: (15 Marks)
PHARMA store has two buildings separated by 20 meter. The two
buildings have two floors each. PHARMA has 100 severs.

1. What is the application communication should be used:
a. Peer to peer
b. Client server
. Server Farm
d. Enterprise Edge
2. What is the geographical consideration of this system?
a. Intrabuilding
b. Interbuilding
c. Remote Distance
3. As a network designer, List the specifications of media cables that
should be used to increase performance, assume the budget

limited to 16,000 for cables.

b. Discuss how VSS solves the STP looping problem, stating benefits of
VSS using a graph. (10 Marks)

c. Give examples to NetFlow fields? (5 Marks)

Best Regards

Dr/Mai Ramadan Page 2.0f2
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Final Exam of
Intro. to Computer Security (CS471)
2018/2019 (First Term)
Date: 31/12/2018
Time: 3 hrs

Kafrelsheikh University
Faculty of Compiters and Information
Department of Computer Science

SE and CS

(25 Marks)
(A) Chose the correct answer for each one of the following Sentences:

(1) If the text "Make It Happen" is encrypted by using Vigenere Cipher with key word math ,
then the encrypted text is

(2)ZADL TU AHBPXU () YACL VT AHBQXU  (¢) YADL UT AHBPXU  (d) Nothing
(2) It is a technique, in which the letters of plaintext are replaced by other letters or numbers or

symbols .
(a) RCS Cipher (b) Substitution Cipher  (¢) Transposition Cipher  (d) Nothing
(3) The cipher which handle (4°) registers of 32 bits in its encryption or decryption process.
(a) RCS Cipher (b) Playfair Cipher (¢) RC6 Cipher (d) MRC6
(4) Is the technique in which, the letters/symbols in the message are reordered but are not
disguised.
() Substitution Cipher ~ (b) Transposition Cipher (¢} RC6 Cipher (d) Nothing

(5) If the message "meet me tomorrow" encrypted by rail fence of depth 3, the result of encrypted
message is ......

(a) MTTOMOEORWEMER  (b) MTTOOEMORWEEMR () MEMTMROETEOORW ~ (d) Nothing
(6) Assures that systems work promptly and service is not denied to authorized users
(a) Availability (b) Integrity () Confidentiality (d) Nothing

(7) This is an attack on confidentiality, and an unauthorized party gains access to an asset, the
unauthorized party could be a person, a program or a computer.

(a) Interruption (B) Interception (¢) Modification () Nothing

(8) This is an attack on integrity, and an unauthorized party not only gains access to but also
tampers with an asset.

(a) Interruption (b) Interception (¢) Fabrication (d) Nothing
(9) This is an attack on authenticity, and an unauthorized party inserts counterfeit objects into the
system.
() Modification (b) Fabrication (¢) Interception (d) Nothing

(10)The prevention of unauthorized use of a resource, including the prevention of use of a resource
in an unauthorized manner.

(a) Security policy (b)Risk assessment (¢) Access control (d) Nothing

(B) Put sign() at correct and sign (x) at wrong with correction the wrong:

(1) Active attack is an attempt to learn or make use of information from the system that does not
affect system resources.

(2) Integrity is preserving authorized restrictions on information access and disclosure, including
means for protecting personal privacy and proprietary information.

(3) Vigenere cipher is method belong to Transposition Ciphers of classical encryption
techniques.
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Final Exam of ¥4
Intro. to Computer Security (CS471)
2018/2019 (First Term)
Date: 31/12/2018
Time: 3 hrs

Kafrelsheikh University
Faculty of Computers and Information
Department of Computer Science

SE and CS

(4) Playfair cipher is method belong to Substitution Ciphers of classical encryption techniques.

(5) In MRC6 Cipher use t = 4r+8 in its key expansion algorithm, but t = 2r+4 in RC6 cipher.

(6) MAC is policy where an entity might have access rights that permit the entity, by its own
volition, to enable another entity to access some resource.

(7) RC6, RCS and MRC6 Ciphers uses a function " x*(2x’ + 1) " in their encryption algorithms.

(8) A Subject is a resource to which access is controlled. In general, it is an entity used to
contain and/or receive information.

(9) A protection domain is a set of objects together with access rights to those objects. In terms
of the access matrix, a row defines it.

(10) If the correlation coefficient measuring factor (C.C) equals 1. this means the encrypted
image is the negative of the original image.

uestions as required in each of them: (20 Marks)
(a) Write the Encryption Algorithm for "RC6 Block Cipher Algorithm".

(b) Explain with drawing: Steps of a Model Process for Managing Information Security.

(c) Encrypt the Message " Welcome to Faculty of Computers and Information " as follows:

(a) using " Vigenere cipher" with keyword " jtem ".

ue " of depth 3.

(c) using " Playfair cipher" with keyword " monarchy ".

Answer the following sub-questions as required at each of them: (15 Marks)

(1) Define Access Right , and What is included.

(2) Define Throughput , and Compare between Throughput of MRC6 and RC6.

(3) Write the Equation of Maximum Deviation Measuring Factor (D).
Also use this factor (D) to measure, Which is of the two algo
Encryption Quality? ~ Assume we have the following informations
X encrypt the plain-image (im) and produce encrypted image (im_x), and Y encrypt the same image
(im) and produce encrypted image (im_y). these images have the following histogram.

Pixel
value

hms (X) or (Y) gives More

image 0 10 15 50 120 | 170 | 210 | 225 | 255

im frequency 10 5 10 20 15 30 20 12 30
| im_x | frequency 5 0 20 |15 12 0 30 30 20

[im_y | teaueny [30 [ 10 [ 30 [ s [ 15 | 12 | 30 | 20 | 10 |

With best wishes with success;

Dr. Osama M. Abu Zaid
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Kafrelsheikh University
Faculty of Computers & Information
Subject: Mobile Software Design
Time Allowed: 3 Hours

Full Mark: 60

Date: [/01/2019

Pages )

Instructor: Dr. Amr Abohany

L Choose the Most Correct scientific term for the following Sentences: (10 marks)

(Scenarios - Network diagrams - Icons - Design — Mistake - Personal view - Slip - Ergonomics
- Query interfaces - HCI - Command line interface - Social view - Scrollbars - Usability)

1. Achieving goals within constraints.

. Stories for design which communicate with others.

. Show different paths through system.

4. May not even have right goal.

5. Good at defining standards for constraining the way we design certain aspects of systems.
6.

T

[EEN)

User led through interaction via series of questions.

Computers contribute to critical parts of our society, and can't be ignored.
8. Small picture or image represents some object in the interface.
9. Aim to optimize performance of human and computer together as a system.
10. Way of expressing instructions to the computer directly.

1L.Mark the Following Sentences with True (T) or False (10 marks)
1. Command line interface better for novices users than experts. )
. Menus rely on recognition so names should be meaningful. )

m
3. Picking on key words is one of the methods to overcome natural language problems. ()
4. Choice of keyboard accelerators is one of the menus design considerations.

5. Buttons are information windows that pop up to inform of an important event.
6. No choice, no branches and no special conditions are advantages of scenarios.
7. Network diagrams describe what happens when and what leads to what.

8. Abowd framework stated that "problems in interaction = problems in translatios
9. High-fidelity Prototyping is cheap and easy to modify.

10. The only goal of HCI is providing tools for commercial developers.

II1. Write Short Notes on the Following Terms:

p!
2.

(20 marks)

Main steps that should be considered in launch stage of mobile software development.
Different types of testing that should be considered in testing stage of mobile software
development.

Different phases that software goes through in development stage of mobile software
development.

Different features that should be included to create a wireframe of the mobile screens.
Different guidelines for current market research that should be considered in ideation stage
of mobile software development.

6. Main differences between low-fidelity prototype and high-fidelity prototype.

7. Seven stages of Donald Norman’s model.

m.m,cEmeEuEé_am»:nnmmmF
c
H

w

[Z3FS

. The process of design steps, confirm your answer with diagrams.
0. Basic principles of screen design and layout.

(Gl dadaalt 3 ALY B -0 - AoV dadall)
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(20 marks)

1. State the main differences when implementing the functions in Figure A and functions in

figure B.

Figure A Figure B
1 myElenent.onclick = functiond; 1 | nyElenent.addEventListener('click', functiond);
1| myElement.onclick = functiond; 7| myElenent.addEventListener{'click', functiond

2. Write outputs of the following code:

Const formatted = [ 0,1,12,123,1234,12345).map(num=>num.tostring().padstart(10,0'));
Console.log(formatted);

3. State the functionality of the following:
a. Ping attribute in A tag.

b. Allowusermedia attribute in Iframe tag.

c. <input type ="file" accept="audio/*" capture>.

d. BDI tag.

e. EncType tag.

f. Poster tag.

4. Which of the following classes defines a legal abstract class? and correct the wrong
definitions.
Class A { public class abstract A {
abstract void unfinished() { abstract void unfinished():

)? 3
@ ®

class A { abstract class A {

3 abstract void unfinished(); ) protected void unfinished();
« @

abstract class A { abstract class A {

| Shstract vold unfinishedO): , Shtract int unfinishedO;
© ®

5. State the main differences between stateless and stateful protocols, support your answer with

examples.
(Bl 400 dadiall)
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Faculty of Computers Year 2018-2019

& Fourth Level
Information First - term Exam
Software Engineering. Date: 10 /112019
Software Quality Assurance 3 Hours

and Testing (SE422 )

OL Select the correct answer (please include the number and the word of your choice) (30
points)

L A type of testing to check aspects of performance, usability and reliability of a software application.
a. Non-functional b. Functional testing c. White box testing d. Data Testing
testing
2. The ease with which the user can learn, operate, prepare inputs and outputs through interaction with a
system.

a. Usability Testing b. Feasibility Testing ¢. Regular Testing d. Black-box Testing
3. A type of testing to ensure software applications will work well under their expected workload.
a. Efficiency testing b. Performance Testing c. Regression testing d. Testability
4. A document describing the scope, approach, resources and schedule of intended test activities.
a. Test Document b. Test Planning c. Test Schedule d. Test Branch
5. A set of activities for ensuring quality in software engineering processes
a. Software Assurance b. System Quality ¢. Procedure Quality d. Software Quality
Assurance Assurance Assurance
6. A line-by-line description of all the actions and data needed to perform a test.
a. Test document b. test case c. Test scenario d. Test Seript

7. A description of an objective a user might face when using the program that require testing in a few
different ways.

a. Test scenario b. test procedure c. test plan d. test steps

8. A quantitative measure of the degree to which a system, system component, o process possesses a given
auribute.
a. Metric b. Test c. Field d. Measurement

9. The totality of functionality and features of a software product that bear on its ability to satisfy stated or
implied needs.

a. Software Assurance b. Software quality <. Quality d. product quality
10. testing of completed units of functional code concerned with verifying specified input against
expected output not worrying about the logic of what goes on in between.

a. Box b. Black-box c. White-box d. Grey-box
1L overall system quality (called general utility in the model) is the aggregation of portability,
usability (called "as is utility" in the model), and maintainability

a. Quality Model b. CMMI Model c. Boehm’s Model d. Efficiency Model

12, Provide a framework for expressing and measuring software quality as a collection of desirable
attributes.

a. Program model b. Software assurance <. Software quality model d. Software model
model
13 groups software quality characteristics according to the main phases of the software lifecycle
in categories like Product operation, revision and transition.
a. McCall's quality b. Boehm’s Model ¢. CMMT Model d. Quality Model
model
14. A set of activitics for ensuring quality in software products.
2. Software Quality b. System Quality ¢. System Control d. Sysiem Assurance
Control
15, defines internal metrics for measuring sub-characteristics in the base quality model.

a.1809126-3 b. 18O 9000-1 c. IS0 9126-4 d.1S0-3




